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OZ =& SE o 87,000 0 87,000
HErar SRRl AIAE HH 12,000 10,000 2,000
A B A2 X2 12,000 10,000 2,000
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SR TP L (el ae
I RA-EH (BN - MRAY - BYS 0 & 24 pJE-T HIRE
I & ot 42,458,891 41,530,891 928,000

= 300,000 300,000 0

= 42,158,891 41,230,891 928,000

MBS oITHYL (LB IHH/UBIAA) 7,143,116 7,093,116 50,000

& 300,000 300,000 0

= 6,843,116 6,793,116 50,000

K101 THOH & 1,398,000 1,348,000 50,000

= 300,000 300,000 0

= 1,098,000 1,048,000 50,000

HMaSIsHMRASAA 420,000 370,000 50,000

308 XXIEHHSOIA 420,000 370,000 50,000

01 AXEHINELS 420,000 370,000 50,000
(RSl AN 2 EBMs S SR X 2

Z& 150,000,000 150,000 100,000 50,000

HWRES(QHS L) (LESISHF/LEHEHT) 32,448,000 31,570,000 878,000

LHEHCHXI & 32,448,000 31,570,000 878,000

ZECEUE 6,448,000 5,570,000 878,000

701 JIERI AN ES 6,448,000 5,570,000 878,000

01 JIEtal AN ES 6,448,000 5,570,000 878,000

OZ=EZEUSEES 2 & 6,448,000,000& 6,448,000 5,570,000 878,000
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MOtS 2 S =22t ool @ e
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25,949,133 19,364, 133 6,585,000

= 6,325,115 1,325,115 5,000,000

= 19,624,018 18,039,018 1,585,000

25,710,449 19,125,449 6,585,000

= 6,325,115 1,325,115 5,000,000

= 19,385,334 17,800,334 1,585,000

MOtE=2S93 8,363,600 1,828,600 6,535,000

= 5,000,000 0 5,000,000

= 3,363,600 1,828,600 1,535,000

= 1,229,600 1,194,600 35,000

303 L&z 26,500 1,500 25,000

01 Z&3 26,500 1,500 25,000

LMOI=S2SSEEIAI& 25,000 0 25,000
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= 1,500,000 0 1,500,000
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= 5,000,000 0 5,000,000

= 1,500,000 0 1,500,000

01 KEXIEHHM A 6,500,000 0 6,500,000

# 6,500,000 0 6,500,000

= 5,000,000 0 5,000,000

S 1,500,000 0 1,500,000

HOtS 2 S A H 2t 2,341,000 2,321,000 20,000

HAMOIS2S X 2,341,000 2,321,000 20,000

301 et ez 20,000 0 20,000

07 GIz2tel=2 04l 20,000 0 20,000

COMOISAIA St 28 IS XA 20,000 0 20,000

SAMELSDIEtE S 1,757,249 1,727,249 30,000

= 625,115 625,115 0

= 1,132,134 1,102,134 30,000

FaR=PNONE= DN 760,600 730,600 30,000

307 Q12t0ld 716,000 686,000 30,000

02 QIHFAE X 190,000 160,000 30,000

OSSN SAEEHEZSE 30,000 0 30,000




a= gEIE= 2A  AE
HH: =T JISEL (LB HF /XL - HEXR)
S KA 282 (el &)
A= 2M -3 - SAEH) - MRAY - BES Off &F K I8N BlusZ
A& ot 243,041,925 241,485,925 1,556,000
=T D=8 (L 23HE/NLSE - HWEXR) 19,558,480 18,002,480 1,556,000
KAl 22 462,500 382,500 80,000
ANEME 22l 233,100 153, 100 80,000
306 == 80,000 0 80,000
01 g3 80,000 0 80,000
OXZMHARAHEHS 80,000 0 80,000
Nel=ats & S8H0 a2l 18,959, 180 17,483, 180 1,476,000
A=123 18,936,000 17,460,000 1,476,000
308 AHXIEHHMSOIA 18,936,000 17,460,000 1,476,000
02 =123 18,936,000 17,460,000 1,476,000
O8+0NSSWR(10EEHLE) 1,476,000 0 1,476,000
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SA - HB SR (BIH) - HRAY - BES arey pJE-T %

Sf Al H <F &3 Akt 76,749,152 76,679,152 70,000
= 167,469 167,469 0

= 76,581,683 76,511,683 70,000

ZAIEAI EH (L3 2,829,328 2,759,328 70,000

st AAEE X4 2,829,328 2,759,328 70,000

o HE HALEE 2cl 2,829,328 2,759,328 70,000

401 Al&HI LR OHYI 372,160 302,160 70,000

01 Al&HI 370,000 300,000 70,000
O===d&HIHM S At 70,000 0 70,000




